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SECOND SEMESTER
COMPUTER HARDWARE AND MAINTENANCE/
COMPUTER SC/INFORMATION TECH.
[SCHEME JULY 2009]
DIGITAL TECHNIQUES
Time : Three Hours Maximum Marks : 100
Note : 1) Attempt total six questions. Question No. 1
(Objective type) is compulsory. From the
remaining questions attempt any five.
Tl B: Ve g SIS | 7 3hwiep 1 (TS
WPR Bl fard g1 99 weAt 7 § fedl utg oy
gl i |

ii) Incase of any doubt or dispute, the English
version question should be treated as final.

ferddt off vR & g sivar R O Ry o
37T ATHT & W9 P Sfew 7T SR
1. Choose the correct answer. 2 each
HEl IR B g7 B
i) (153),, is equivalent to-
(@) (312), (b) (231),
(c) (123), (d) None of these
(153),, %P equivalent &
(a1) (312), (3) (231),
() (123), () Soieet & & g 7
F/2017/6342 LB6 PT.O.

https://www.rgpvonline.com

(2)

11) Which s the universal gate-

(a) Notgate (b) And gate
(c) Nand gate (d) Or gate
Prerferiiae & 9 @i —a1 2t ic 3
(37) Not e (¥) And i
(3) Nand e (g)Orie

i) (1+A+B+Q)is equivalent to -
(1+A+B+C)99ge g~
(a) A+B+C (b) ABC
(c) 1+ABC (d) 1

1v) How many cells are required for » variable k-map
Al n =R k-% 2 o ettt amrasaear A 2-
(@) 2"+ 1 (b) 2"~ 1
(c) 20 (d) 271 4]

v)  Which is the slowest logic family
e g e e 3
(a) TTL (b) RTL
(c) CMOS (d) DIL

2. a) Convertthe following numbers as directed. 8

STl SR FIRaa numbers @ Convert aR1)
(264.9), = (),
(4FA) 6= (),

(110011), = (),,
(100010110), = ( ),
b) Explain BCD, Excess-3 and gray code with

example. 10
BCD, teg-3 T I e 3 SSTET JfRd FHeTE))
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3. a)

b)

b)

3

How NAND and NOR gates are used as universal
gate? Explain with example? 9
s g=TeR wEEgd & NAND 3R NOR gate
gfraRier I Pt a<g B use 5 St €72

Explain XOR and XNOR gate with truth table. 9
XOR T@ XNOR ¢ @} weaar aRolt |t w753

Simplify following Boolean function with
minimum number of literals- 9

ffeTRad Boolean function &1 =gFaH aR 31T
forewe & Reefiors St -

) X+X'Y 1) XYZ+XYZ+XY’
1) X(X+Y)

Prove (A + B) (A’ + B' ) = 0 with the help of
De-Morgan's theorem. 9
St A1fA Ty & wgEar @ Rig HiR i
(A+B)Y(A'+B')=0

Solve following with the help of k-map. 9
F=feRed @1 k-map & TERIE H g1 SR~
F(A,B,C,D)=%(0,2,4,5,6.7,.8,10, 13, 15)

Define half adder and full adder with truth table
and circuit. 9

BT TR T ot TeR &l [edal ARVi Td gikaer &
R A FHFS |

Define encoder and decoder with example. 9

TpIeR Ta f3disR @ Iemevvl vied aHesd|
BB
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(4)

b) Define multiplexer and demultiplexer with

suitable diagrams. 9
Multiplexer 3@ demultiplexer @1 fas & Fgrar
SEEEIEo]

a) Define following terms (any three) 9
1) Propagation delay time
11) Noise margin
ii1) Power consumption
1iv) Fan-in fan-out
FrfoRRea =1 ufeafye HiRR-
i) UM 3t TN
i) g qJifF
1ii) TR Py
iv) %9 39 B 3713

b) Write short notes on- 9
fFrfoRed o it fewooft e -
i) ECL i1) MOS families

a) Whatis Flip-Flop? Explain master-slab flip flop
in detail. 9
freg-welly @ &7 AR ol [Py —warg &
R & w9sITE |

b) Explain shift register and their type in brief. 9
free feeR qur % Afw vor @ ddy
SEEIEo]
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